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i )1. What's the correct time?
A11:33 B.11:10. C. 1116,
{ 12, What's Dr Smith's office number?
A 6B6-0075. B. 666-3095. C. 666-0706.
( 13. What does Heather do?
A. She is a teacher.
B. She is a writer.
C. She is a visitor.
{ V4. What's the relationship between the two speakers?
A. They are classmates.
B. They &re brother and sister.
C. They are roormmates.
( ¥5. What will the woman do tonight?
A. She will stay at home alone.
B. She will go to ask Nancy for dinner.
C. She has 1o stay at home with her brother.
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{ y6. Why has the woman been studying a lot recently?
A. Because she failed her last exam.




B. In order to complete her homework.
C.In order to prepare for her exams.
{ 7. What has the man just finished doing?
A Swimming.
B. Studying for an exam.
C. Eating dinner.
( 18. What will happen tomorrow?
A, The man will have an exam.
B. The man and the woman will have lunch together.
C. The man and the woman will study together.

MRS T BRSS9 ~ 11 B,
{ 19. What class is the man trying to find?
A. Advanced economics.
B. Introductory econamics,
C. Advanced biology.
{ 110, Where does this conversation most probably take place?
A. Walking on campus.
B. Eating at a dining hall.
C. Sitting on a campus bench.
{ J11. How does the woman know that the ecenomics class had a lot of
students?
A_She took the class last semester.
B. She read about it in the school newspaper.
C. Her roommate tock the course last semester.

MrEE 8 Bk, [ 12 ~ 14

( 112. Why did the man want to talk to the woman?
A.He wanted to ask her to do something for him.
B. They both live in the same dorm.
. He wanted to borrow her car.

{ 113, At what time does the man's flight leave?
A AT 6.00.
B. At 6.30.
C. AL T.00.
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114. Where will the two students meet tomorrow morning?
A, In the woman's room.
B. In front of the dorm.
C. At the school gate.

U 9 B bR A 15 ~ 17 B
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115, What are the students talking about?
A, Watching a football game.
B. Going out to ginner tonight.
C. Getting ready to play a game.
116, What would prevent the woman from seeing the game?
A, Car trouble.
B. Studying for an exam.
C. A late dinner.
117. Where will the man be sitting?
A In Section C
B. In Section B.
C. Behind the benches.

O3 10 B, Inl 2545 18 ~20
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118, Where are millions of ~“Cokes"” sold every day?
A. Almost everywhere in the world,
B. In most European countries.
C. Some parts of the world.
119. What do the Americans think of Coke?
A It's a drink for young people.
B. Almost everyone likes it in the USA,
C. It is only drunk on certain occasions.
120, When did the first supermarket appear in the USA?
A In the 1930s.
B. In the 1920s.
C.In 1930.
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Where does this conversation take place?
A.On the campus.

B. At someone’s house.

C. Over the phone.

. What time is it now?

A, Seven-thirty.
B. Eight-thirty.
C. Eight o'clock.

.Why was the man angry?

A Because the policeman stopped him.
B. Because the driver charged too much.
C. For no good reason.

Who's ccming to visit the family?
A.The man’s mother.

B. The man’s mother-in-law.

C. The womnan’s mother-in-law.

. Where was the woman driving when the officer saw her?

A. Along a side street.
B. On a highway.
C. Quer a bridge.
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{ 16. What is the woman doing?
A. She is surfing in the Web.
B. She is talking with Jack.
C. She is sending an e-mail to Jack.
4 7. How many hours does Jack probably spend on the Internet every
week?
A About twelve hours,
B. About two hours,
C. About six hours.
{ }8. What can we learn about Jack from the conversation?
A, His friend likes the Internet.
B. He owns a business in the Internet.
C. He has a little interest in the Internet.

WPEE 7 BERAEL M9 ~ 11 A,
( 19. Why did the man look worried?
A He got an expensive telephane bill.
B. He couldn't afford the telephone bill.
C. His wife fargot to call his son.
i 110, What is the woman going to do?
A Ask Jack to pay for the hill.
B. Ask her father to pay for the bill.
C. Use her father's bill to pay for the bill.
i }11. What is the relationship between the two speakers?
A, Mother and son.
B. Husband and wife.
C. Teacher and student.

¢ LsdL l
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i 112. Where does the man want to live?
A, In a big city.
B. In the country.
C. In the mountain.
{ 113, Why couldn't the woman sleep well last night?




A. She was not used to the silence.
B. She was afraid of the noise made by the bird.
C. She was too tired to go to slesp.

PR 9 BrbARl, BIE S 14 ~ 16 BR,
{ )14, What's the trouble with the man?
A He fell to the ground at the corner.
B. He’s lost his way.
C. He was caught by the paliceman.
{ 115, What should he do now?
A Turn left,
B. Turn right.
C. Turn back and go the other way.
{ )16, How far away is Shanghai University from here?
A. One block.
B. Two blocks.
C. Not mentioned.

Wras 10 Bebbgl, (31555 17 ~20 341,
[ 117 When did Peter get back home?
A_ At about two in the afterncon.
B. At about twelve at night.
C. At about two in the morning.
{ 118, Why did Peter chmb to the bedroom window?
A. He forgot his key and could not wake up his wife.
B. He wanted to clean the window.
C. He didn't want to wake up his wife.
119. Who did Peter saw below his ladder?
A His wife. B. His son. C. A policernan.
{ 120, Whao opened the window for Peter?
A His wife. B. His son. C. A policerman.
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{ ) 1. What do you think was happening last night?
AL A heavy snow,
B. A wind.
C. A storm.

| }2. How does the woman eat her dinners?

4. Cook at home.
B. Eat with ner family.
C. Eat in the restaurant.
i 13.What is the man asking about?
A The bus.
B. Beihai Park.
C. The way.
[ 14, Who is good at cooking?
A. The woman.
B. The woman's sister Mary.
C. Mary's hushand.
{ }5. What kind of coffee does the man prefer 1o have?
A, Coffee with milk.
B. Coffee with sugar.
C. Coffee with milk and sugar.
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{ ¥6. Where does the conversation take place?
A.In a kitchen.
B.In a restaurant.
C. At a concert.

{ )7. What has the man ordered?
A Eggs.
B. Meat.
C. Vegetables.

( J8. What produces the smoke?
A A fire,
B. A cigar.
C. The meat.

UV T BbtR M9 ~ 11 8,
( 9. Why did the boy stay at schoal till five yesterday?
A. Because he was talking in class.
B. Because he was talking something that had nothing to do with his
lesson in class and the teacher wanted to talk to him.
C. Because the teacher wanted to know what he had learned in class.
( 110. Why did the boy stay after school the day before yesterday?
A. Because he was talking too much in class.
B. Because he was so quiet.
C. Because he was sleeping in class.
{ 1. What does the boy think of the lessons?
AL Interesting,
B. Dull.
C. Not very well prepared.

WS 8 BRbAAt, I EY 12 ~ 14 36,

{ )12, What does the man want 10 buy?

AL A suit. B. A black suit. C. A blue suit,
i 113, How much is the black suit?
A B115. B. $150. C. $105.

({ 114, When will the man go to the shop again®




A.On Wednesday. B. Next Monday. C. Next week.

WS 9 B RREE EIESS 15 ~17 B,
{ }15. What may happen after the dialogue?
A. The waman will help the man with math.
B. The man will go swimming with the woman.
C. The woman will go swimming while the man will study in the library.

{ }16. How many tasks will the man do?
A3 B.2. C.4
( 117. How do you know the characters of the two speakers?

A. The woman is kind and helpful.
B. The man is kind and helpful.
C. The woman 1s hardworking.

WS 10 Bobrwt, M 18 ~20 M.
[ ) 18. Which city did Allan live n?

A Washington. B. New York. C. Philadelphia.
{ 119, What did Allan like very much?

A Studying his lessons.

B. Playing football.

C. Watching TV.
{ 120, When did this story happen?
AL In summaer. B. In autumn. C. In winter.
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i J1. How did the woman go on the journey?
A. By air. B. By lanad. C. By water.
{ }2.What does the woman mean?

A.The movie was already over.
B. Some people were watching the movie.
C. She does not want the man to come tonight.
[ )3 What'll happen to the waoman's cat?
AL It will be locked after by Ken.
B. it will be sold to Ken.
C. It will be killed by Ken.
{ 14, Why doesn’t the woman want to eat any more?
A. Because she has eaten a lot.
B. Because she is afraid she will put on weight.
C. Because she thinks the cake is not delicious.
{ )5. How many hours does the castle open each day®
AS. B.6. C.11.
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{ 16, What's the relationship between them?
A. Mother and son.



